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The 30-kg crate is held on the incline by the wire AB and by
the horizontal force P which is directed paraliel to the z axis. Since the
crate is mounted on casters, the force exerted by the incline ot the
crate is perpendicular to the incline. Determine the magnitude of P
sad the tension in wire AB. :

. Soln._i

,_--4—_..1&(__&1_(34‘-3-, “‘;‘3 )-3) = A (‘?) %) -3) -

e Li (_0,5,0) - - o
- > 22 g - 22
S — -—~T———~B‘B~‘~—P-3€:~( +F ) - 3k . - T Rp

- nd -
= w320 4+ 4493 + 3k = AB:6213wm

i -’ N - B V:‘V -y 7 6
o T =T _(-32{+44; +3k
FETE ‘ i+3k)
- . b - - 3

i = T(-95151i+07082j +0.4829 &)
; ‘ ~ o
e e 3 8

SO R_is L ¢o the P/ane shown =N -l
o Ris._in _the xy plave . - -

- Rr=2R e

e R: j%ﬁ - - : - - - -

— *_“-.:';_%,_z.k (06T +0.83) - R

P = -PK . | i B
e 2 By =0 O.6 R -0.5151.T 20 - N

L| 5 R -08583.T o .
. T f oy -30 (9.81) +©-7082T .+ -8R = o
. = -294.3 + 0.7082T +0.8(0.8583)T =0

3 |T=21N}
o ZhH o B -P 40.4829T =o
I P = o.4yg2a (21

3 P=102 N

|



.

.Ezample. 4 o

Given :
) The SSJRM shown
. Reg Ao o L
The_foy«s_ in_the cak(es A
—_.Sol/n R . -
N Nolt__}Juk Jlu!___fﬁb--n(‘_ -p.,.}-_-- S
L A € can be taktn  Hewever,
e bg Jla.\n\mhj Lokla_,--i.t__un.ke__-_m__.,. .
o ‘_,__i_,.__cmt.!uld_iku:__ws_.ﬂhu net Skavk
i with poink € as _theve me Y _unknswms.
| S Cxom FBO @, Xl e .
£ a €02 20°-F con35z0 O
n_:;_ﬁs B 20%e B mn 35" -500 =0 .

S R

Selvimy © and@ qives . | K = 500 .1b] ; |-F -=5T3.6 1k . Fep®
. l Mcx_,__ﬁ&b,@, can _ Lo Ahln?gJ'_-_M,, _ _ F.S_D .
____ _l_______C_Cn,n.ol,-MJM 24), E£€0,2,.24), FLD,-3,+24) <
e c h z__-.‘o_.(_g.l.y..k__....-;.___c,b_‘,Zé._ e _ 7 & «573.6 lb

B ; ) . ';c.\ F?.o (-10 . 2#! b I - +) e B EC.F

————— Ce =75 -1-u ; CE=22%_§s . . . . -

: a._l;,__ T;LL_L‘ ~24R)_ . ®_ FRO O

\ C-} 4_3.4_-.141.__&___CF_._2£_-£L__ e _
S D zfECT 20> O . —

- k__.?___
__Fiom *p.- Q- U S
——2F ._o_;g_'w Ro +469.9 z0_ = | Fp =1220 b}

F., = 573.6 238 1 -573.6 in35 K zwrei-329F © .

\ e . . . - : S

- . Z,F.,-:o‘i l F -l F 2o =N F‘E < F;F Y S SR

25 ¢¢ 2 cE

ZE'Q% 24 (m0)-Fk - R -0 | Rpe=R, =46 b
[

= Fee




